Cross recessed truss machine screw
M6x 8

M6 plate nut
40x20x4

42

—~
0
Lo

S~—"

Cross recessed truss machine screw

100

Screen flame

(2083)

Screen surface

N

LN

Cross recessed

M6x 8

M6 plate nut
40x20x4

—~

L
Ts)

~—

SN

N

Cross—section A—A

truss tapping screw
5x 25

Reinforcement frame
\_Wall surface

Screen flame

Screen surface

b

Wall surface

Cross—section B—B

N

\ Screen bracket (3 places each on top and bottom)

[ [&] E)] &7 4] [&]
3525
[=¢=] ﬁ [=l=] ﬁ =3

i I

<A | B |
i i
I I
l l
Il [l
I I
I I
l l
il Tl ©
| | 3
I I - N
X I T o
l l Q
I I
[l [l
l l
I I
[l [l
! W 3321 I
i i
I I
l l
I I
I I
l l
I I

Ca H == H e =
Reinforcement frame x 2/
$11
o) Wi 2X6.5x 20 Long hole
~ |
80

2X6.5x20 Long hole

M
o+

Screen materials

Pure MatIl Cinema (WF302)

Material of flame

Aluminum

Screen frame

Matte alumite (black)
Flocky frame (black)

Aspect ratio

HD type (16:9)

Accessory Assembly parts set
Weight 18.0kg
Detail of screen bracket S=1:5
Product —. . . Model Scale Unit DATE ' H
1 Dimensional
Qas... OSM CO.,LTD. Fixed frame projection screen PX—150H—A—WF302 A3 720 | mm |2020./10 drawing




